SWR-MOER{FFRIVFEER

BRASRATTERIV b

model SWR  IICEIC T TS

a8 SWR0010 SWRO0030 SWR\=(001 0 SWR0070 SWR0120 SWR0250

. . M3X0.5X 16
INBITERIVMAX AR M3X0.5%X18 M3X0.5%X18 M3X0.5%25 M4 X 0.7 X 25 M5X0.8X30
sl HETERI k)
RE 3 4 3 4 4 4
NIV RELES mm 41 46 41 6 6.5 9

) 1) SUS #4 CBSST3-16 SCB3-18 SCB3-18 SCB3-25 SCB4-25 SCB5-30
SAZITD | f]2)SUS - CSHHA-SUS-M3-18 | CSHHA-SUS-M3-18 | CSHHA-SUS-M3-25 | CSHHA-SUS-M4-25 | CSHHA-SUS-M5-30
BRI X ) 3) SCM #4 CBS3-16 CB3-18 CB3-18 CB3-25 CB4-25 CB5-30

5] 4) SCM 42 - CSHHA-ST-M3-18 | CSHHA-ST-M3-18 | CSHHA-ST-M3-25 | CSHHA-ST-M4-25 | CSHHA-ST-M5-30

K1LEBAS « A—H—-

RV FERIFEER T,

e Fic

http://www.kosmek.co.jp

iz SWR0500 SWR0750 SWR1200 SWR2300 SWRY 0135
AATYIERIL b4 X M6 X 35 M6 X 35 M8 X 40 M10%55 M4 X 0.7 X35
KE 4 6 6 6 8
RIVERELES mm 10.5 8.2 10.5 15.5 6.5
1 1) SUS #4 SCB6-35 SCB6-35 SCB8-40 SCB10-55 SCB4-35
SAITOD | )2)SUS #7 CSHHB-SUS-M6-35 | CSHHB-SUS-M6-35 - - CSHHA-SUS-M4-35
BEFRT | 5] 3) SCM #7 CB6-35 CB6-35 CB8-40 CB10-55 CB4-35
81l 4) SCM #4 CSHHA-ST-M6-35 | CSHHA-ST-M6-35 - - CSHHA-ST-M4-35
K1 BAK - A—H— - RV MERIEBZERFTY,

@ RAMICHTHATRMAAL. ABRSMNEhEEEL,
O AAEHDHBEFELLICERET L. ENHYET, 1/1

BR5E & #4 SSL-SWR026-01-J1P 4ERL 2020.12.24 FE#H -



